(‘state machine CalculatorFsm[ [& CalculatorFsm U

pp_calc->Off() /

pp_calc->Cancel() View .Exit();

?

pp_calc->CancelEntry()

-

ready

| negatedl |

entry / View .Negate();
pp_calc->Oper( operld ) [operld=="-7/

View .Oper( operld );
return ok;

- ST
‘ entry / View .CancelEntry(); j\
pp_calc->Oper( operld ) [operld=="-"/
return TRUE;
[ok==TRUE] pp_calc->Oper( opefid ) / pp_calc->Digit_0() pp_calc->Point()
View .Oper( operld ); pp_calc->Digit_1_9( digitid )
turn TRUE;
g?ﬁ reum 2 EP_Zero EP_Int EP_Frac
[else] operaMl : OperandXFsm
pp_calc->CancelEntry()
C error
pp_calc->Oper( operld ) /
View .Convert();
View .Oper( operld );
lelse] / return TRUE
return ok;
pp_calc->CancelEntry() /
View .CancelEntry();
?— \L negated?2 |
< [ok==TRUE] / opEntered

entry / View .Negate();
pp_calc->Oper( operld ) [operld="-"/

pp_calc->Oper( operld ) [operld=="-/
return TRUE

pp_calc->Oper( operld ) /
ok=View .Evaluate();

pp_calc->Equals() /
ok=View .Evaluate();

pp_calc->Digit_0()

pp_calc->Point()

pp_calc->Digit_1_9( digitld )

EP Zero EP_Int

EP_Frac

operand\Z/: OperandXFsm

pp_calc->CancelEntry() /
View .CancelEntry();

return ok;




class ExEnv_Ui[ 55 Context_Ui u

«Foreign»
ui:ul
]

_|
d_rp_calc : CalculatorClient

d_pp_calc : CalculatorServer

]
L

Calcinstance : CalcStructure g]




class ExEnv_Kbd [ [Eji Context_Keyboard u

Kbd : Keyboard =]

[ ]
L

d_rp_calc : CalculatorClient

d_pp_calc : CalculatorServer
™

Calcinstance : CalcStructure g]




class ExEnv [ [ Context u

«Mock»
Kbd : Keyboard
[]
L

d_rp_calc : CalculatorClient

d_pp_calc : CalculatorServer

[ ]

Calcinstance : CalcStructure g]




[ ]

component Keyboard [ [ Keyboard U

L]
d_rp_calc : CalculatorClient

rp_calc : CalculatorClient
]

L
MyClass : KbdClass




[
L

I'_l.
component CalcStructure [ || CalcStructure U d_pp_calc : CalculatorServer

pp_calc : CalculatorServer
[ ]

Calcinstance : Calculator




(‘state machine CalculatorClientPsm([ [+ CalculatorClientPsm u

«NativeTrigger» «NativeTrigger»
/ Cancel(); 1 Off();

«NativeTrigger»
l $ / Cancelentry();

ready |

negatedl |
/ Oper(*-"); ’

A ) (e )

) «NativeTrigger»
99
/ Oper(*-');
«NativeTrigger» «NativeTrigger» «NativeTrigger»
[rv==TRUH| / Digit_0(); / Digit_1_9( digitid); |/ Point();

NVRUEER EP_Zero EP_Int EP_Frac «NativeTrigger»

g k>ﬁ / Oper( operld ); / CanceIEg?r 0:

[else] operandl: épjerandXCIientPsm Y

C error
«NativeTrigger»
/ Oper( operld );
[else]
«NativeTrigger»
| CancelEntry();
g% opEntered egaled? |
[rv==TRUg] / Oper(-');
«NativeTrigger»
/ Oper(*-');
«NativeTrigger» «NativeTrigger» «NativeTrigger»
/ Digit_0(); / Digit_1_9( digitid ); |/ Point();
«NativeTrigger» EP_Zero EP_Int EP_Frac <;l\give‘l;rigger»‘
L /rv=Oper( operld); - ncelEntry ();
operand2: Ope\ré\ndXChe ntPsm

«NativeTrigger»
/ rv=Equals();




(state machine OperandXFsm[ fE OperandXFsm U

EP_Zero

/
View .Insert( '0");

| zero |
‘ pp_calc->Digit_0() / ; ’

pp_calc->Point() /
View .Insert(".");

pp_calc->Digit_1_9( digitid ) /
View .Insert( digitld );
frac
| int | pp_calc->Digit_0() / View .Insert( '0");

w=h Il . - pp_calc->Point() / ;
pp_calc->Digit_1_9( digitld ) / View .Insert( digitld );

calc->Digit_1_9( digitld ) / View .Insert( digitld );
‘pp_calc->Digit_0()/View.lnsert( '0'); ’ e oit_1_9( digitd) ( digitid)

/
View .Inserts("0.");

/
View .Insert( digitld );

O EP_Frac




(state machine OperandXServerPsm| OperandXServerPsm U

EP _Zero

| zero |
Digit_0() /; ’

Digit_1_9( digitid )

frac

f int ]

Digit_0() ’

Digit_1_9( digitid )

Point() / ;

\,

Digit_0() / ;
Digit_1_9( digitid ) /
Point()

EP_Frac




package CalculatorProtocol[ |2 ClassDiagram U

CalculatorClient
-digitld : char ='4'
-operld : char ="'/

-rv : boolean
[ 1
L
\
\
\'j
ICalculator

+Cancel() : void

+Cancelentry() : void

+Digit_0() : void

+Digit_1_9( digitld : char ) : void
+Equals() : boolean

+Off() : void

+Oper( operld : char) : boolean
+Point() : void

CalculatorServer




(state machine CalculatorServerPsm[ CalculatorServerPsm U

Y roa |

return TRUE;

Cancel() Off()
H ? CancelEntry()
’ ]
ready | negatedl
entry /
Oper( operld ) [operld=="-T/
. result | begin .
‘ entry /; J
Oper( operld ) [operld=="-7/
return TRUE
/N
"ok"]/ o N B _
fetlEm T]RUE Digit_0() Digit_1_9( digitid ) Point()
Oper( operld ) /
return TRUE
§>_\ EP_Zero EP_Int EP_Frac
retuE(?]Is;A(SE operandl: O&)JerandXServerPs m =
o
' CancelEntry()
C error
Oper( operld ) /
lelse] / return TRUE;
return FALSE;
CancelEntry()
\ﬁ negated2

opEntered

entry /
Oper( operld ) [operld=="-"T/

Oper( operld ) [operld=="-"T/

Oper( operld )

(.

Equals()

return TRUE;
7N
Digit_0() Digit_1_9( digitld ) Point()
EP_Zero EP_Int EP_Frac
- - - CancelEntry()
operand2: Ope\rﬁndXServerPs m
o




(s tate machine OperandXClientPsm[ OperandXClientPsm U

EP_Zero
| zero |
[ / Digit_0():; J
«NativeTrigger»

/ Digit_1_9( digitid );

«NativeTrigger»
/ Point();

frac

/ Digit_0();
/ Digit_1_9( digitid );

[

int

|

/ Digit_0();
/ Digit_1_9( digitid );

/ Point();

\,

EP_Frac




